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Aufgabe 1

Fasse die Terme so weit wie moglich zusammen. Lose dazu die Klammern auf.

a) —6c — 4c + 8a — (6¢ — 3b — 9b) b) 2¢ — 7b — (10a + 3b — 3a)

c) 60+ 8b+ 10b+ 5¢ — ((—=7)a+ b+ c) d) —8b — 4a + 5a + 3a + 8a + 9a + 8¢
e) 6c —9c+9b — 2c+ 2b

Aufgabe 2

Fasse die Terme so weit wie moglich zusammen. Lose dazu die Klammern auf.

a) (8a —3b+ 8a — 2b)(a + 5a + 9b)((—7)b — 5b)

b) —7b — 8a — 6b — 9a + 6b — 2a + 3a — (6b + 10a)

¢) 6a 4+ 9a + 2a + 6b — Ta + 8a + b+ 2b + 8a + ba

d) (—6b+ 8a — 9b)(2a + 5a + 6a) — 4a — 9b + 8a

e) 4a+a—8a—3b—5b—T7b—4a — (5b — 10a + 2a + 2a)

Aufgabe 3
Fasse die Terme so weit wie moglich zusammen. Lose dazu die Klammern auf.

a) 7c — 2d + 5a — 9a — ((—2)e + 3d + 8e)

b) 5b — 9d + be — 7d + 8e + 4c + 2e — 8b + 10d + 3b + 8b
c) 7d+a—5e+5c+5f —bb+4d + 2b + 4d

d) 2f +7f — 9d — 3d+3d — ((—8)e + e — 7d)

e) =8¢+ a+ e+ 6b—9c+ 8d — 9b+ 4d + 4b

Aufgabe 4
Fasse die Terme so weit wie moglich zusammen. Lose dazu die Klammern auf.

a) 8a + 4a — 4a — ((—10)b — 6b + 2b — 9b) + 9a + 2a
b) (=9a — 6a)((—3)a + 3a — 7b) — ((—=9)b + 4b + 8a)
¢) 7b+ 5a — 10a — Ta — 9b + a — ((—2)b — 10b + 6b)
d) —3b — 10a — 3b — 10b + 10a — ((—2)b — 8b)

e) (=7b—4a+Tb+b—5a+a)((—2)b+ 3a — 8a — 9a)

Viel Erfolg!
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